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Equazioni logaritmiche

25.

26.

21.

28.

2log, (x+4)=log, (2 - x)
Xx+4>0 X>-4

ca.: = = —-4<x<?2
2-x>0 X<?2

log, (x +4)* =log,(2-Xx) = X*+8x+16=2-X

x> +9x+14=0 = xz_gi 281—56 <—;n0nacc

log, x -3 = %Ioga (3x—-4)

X>3

4 = X>3

{x—3>0
ca.:

=
3x-4>0 X >
1 1

=log,(x-3) = =log, (3x—4

5 100a ( ) = 5 log, ( )

log,(x-3) =log, (3x-4) = x—-3=3x-4

X-3X=-4+3 = x:%nonacc. = imp.

2log,+/3x =log, (X* — 4)

3x>0 x>0
ca.: = - X>2
x> =-4>0 X<-20x>2

ZE%IogaE’)x:Ioga(x2 -4) = log,3x=log, (x* - 4)

3x=x*-4 = x*-3x-4=0 =

_31J9+16<4 =4

%2 2 —1 non acc.

log, (10 - x) _5

log, (4 - x)
10-x>0 x <10 x <10

ca:<4-x>0 = {Xx<4 = X<4 = x<40x#3
log,(4-x)#0 4-x#1 X#3

log, (10 — x) = 2log, (4 - Xx) = log, (10 - x) =log, (4 - X)* =
10-x=16-8x+x* = X -7x+6=0 =

711/49—24<6n0nacc. C=1

X2 = 2 1 -
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29. log,|3x —1| =log,|X]

{3x—1¢0 x;t1
3

0
X X£0

IX-1=x = le
3Xx-1=%Xx = 2

>
11
N =
>
11
NN

3IX-1=-x = le
4
0. 3log, (x+2)-3log, (2x—-1) +log, 4-1og; 9=0

X+2>0 X>-2
ca.: = 1 = x>=
2x-1>0 x>E 2

3log, (x+2)=3log, (2x—-1) -2+ 2
log, (x+2)=log, (2x-1) = x+2=2x-1 = x=3

31. log,(x—-5)+log,(x-7)+log,3=0

Xx—-5>0 X>5
ca.: = = X>7
Xx=7>0 X>7

log,3 (x - 5)(x - 7) =log,1
3(x2-12x+35)=1 = 3x* -36x+105=1 = 3x* - 36X +104=0

_18+/324-312 _ 18+2,3
3

X2 3

X:18—2\/_3
3

18+2./3
non acc. per ca. X = T\/_

32, 2log, x +log, (x* +1) =log, (3 - x*)

x>0 x>0 0 \/_3
ca.: = = 0<x<
3-x2>0 -J3<x<,3
log, x> + log, (x> +1) =log, (3 - x*)
log, x* (x* +1) =log,(3-%x°) = x*+x*=3-x" = x*+2x*-3=0

-1+ ./1+3 _ <1

1 —3 non acc.

X2 = x=1
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3. 2log,(x—1) +log, (x—2)=log, (x* —3x +2)

Xx—-1>0 Xx>1
ca:ix—-2>0 = {X>2 = X>2
x> -3x+2>0 x<1lOx>2

log, (x —1)* (x — 2) =log, (X* = 3x + 2)

(x-1*(x-2)=(x-1)(x-2) = x-1=1 = X =2 non acc. imp.

34. In(x+2)—|nx:2In%

XxX+2>0 X>-=2
ca.: = = x>0
x>0 x>0

In(x+2):lnx+ln% = In(x+2):ln%x = x+2:%x

4x+8=X = 3x=-8 = x:—g non acc. imp.

35 log,(x+2x*) -log, = =1

Nl

1

2
2 1

ca:x+2x>0 > x<—§ O x>0

log, (X +2x*) —2=1 = log,(x+2x*) =3 = log,(x +2x°) =log,8 =

~1+,[1+ ~1+
X+2x0=8 = 2¢ +x-8=0 = x,= Lrv1T®4 v, =140
, 4 , 4

3. log, (x —2) +log, (x* — 25) —log, (x - 5) =1

Xx—-2>0 X> 2
ca:sx*-25>0 = <{x<-50 x>5 = x>5
x=-5>0 X>5
x> - 25

log. (X — 2) + logy =10g:5 = log.(x—2) +logs(x+5) =1l0g;5 =

X_
log, (X —2) (x+5) =log;5 = x*+3x-10=5 = x*+3x-15=0

_-3+,9+60

Xo = 5

non accettabili per ca. = imp.



